

$$y = a(x-h)^2 + k$$

$$y = d(x+1)^2 + 9 = d(x^2 + 2x + 1) + 9 = dx^2 + 2dx + d + 9 =$$

$$f(x) \rightarrow 9d + 9d + d + 9 = 1$$

$$14d + 9 = 1$$

$$\Rightarrow 14d = -8$$

$$\Rightarrow d = -\frac{1}{7}$$

$$-\frac{1}{7}x^2 - x + 1\frac{1}{7} = -\frac{1}{7}x^2 - x + \frac{14}{7}$$

$$x^2 + mx + m + 9 = 0 \quad \Delta > 0 \quad -5 > 0 \quad -p > 0$$

$$\Delta > 0 \rightarrow b^2 - 4ac > 0 \rightarrow m^2 - 4(m+9) > 0 \rightarrow m^2 - 4m - 36 > 0$$

$$\frac{x}{y} = \frac{-r \pm \sqrt{r^2 - 4 \cdot 1 \cdot (-f)}}{2 \cdot 1} = \frac{-r \pm \sqrt{r^2 + 4f}}{2}$$

$$x > 12 \quad x < -f$$

$$s > 0 \rightarrow -\frac{b}{a} > 0 \rightarrow -\frac{m}{1} > 0 \rightarrow m > 0 \Rightarrow m < 0 \quad p > 0 \rightarrow \frac{c}{a} > 0 \rightarrow \frac{m+9}{1} > 0 \Rightarrow m+9 > 0 \Rightarrow m > -9$$

$$-9 < m < -f$$

$$x^2 + (2m-1)x + 2-m = 0 \quad x^2 - 2m + 1 + 2 - m = 0$$

$$x^2 - 2m + 3 = 0$$

$$p = \frac{c}{a} = \frac{2-m}{1} =$$

$$s = -\frac{b}{a} = -\frac{2m-1}{1} = 1-2m \rightarrow -fm + 2m^2 + 2 - m = 9$$

$$2m^2 - fm + 2 - m = 9$$

$$2m^2 - 3m + 2 = 9$$

$$2m^2 - 3m - 7 = 0 \quad (m-5)(m+2) = 0$$

$$x^2 - x - f = 0 \quad s = 1 \quad p = -f$$

$$x_1^2 + \frac{1}{x_2} \quad x_2^2 + \frac{1}{x_1}$$

$$s_{جد} = x_1^2 + x_2^2 + \frac{1}{x_1} + \frac{1}{x_2} = (s^2 - 2sp) + \frac{x_1 + x_2}{x_1 \cdot x_2}$$

$$\Rightarrow s_{جد} = (1 - 2 \cdot 1 \cdot (-f)) + \frac{1}{-f} = 1 + 2f - \frac{1}{f} = \frac{\delta 1}{f}$$

$$p_{جد} = (x_1^2 + \frac{1}{x_2})(x_2^2 + \frac{1}{x_1})$$

$$= x_1^2 x_2^2 + \frac{1}{x_1 x_2} + x_1^2 + x_2^2 = -4f + 9 - \frac{1}{f}$$

$$= -\frac{2f 1}{f}$$

$$s_{جد} = \frac{\delta 1}{f} \quad p_{جد} = -\frac{2f 1}{f}$$

$$x^2 - sx + p = 0 \Rightarrow x^2 - \frac{\delta 1}{f}x - \frac{2f 1}{f} = 0$$

$$x^2 - \delta 1x - 2f 1 = 0$$

$$+ \sqrt{x} (\sqrt{x^2} + \frac{1}{\sqrt{x}} + 1) (\sqrt{x^2} - 1) = \sqrt{x}$$

$$(t^2 + \frac{1}{t^2} + 1)(t^2 - 1) = t^2$$

$$t^2 + \frac{1}{t^2} + 1 = \frac{t^2 + t^2 + 1}{t^2}$$

$$\frac{(t^2 + \frac{1}{t^2} + 1)(t^2 - 1)}{t^2} = t^2 \quad \frac{t^2 - 1}{t^2} = t^2$$

$$t^2 = t^2 - 1$$

$$t^2 - t^2 - 1 = 0 \quad t^2 = k \quad k^2 - 2k - 1 = 0 \quad k = 1 \pm \sqrt{2} = t^2 = x \Rightarrow x = 1 \pm \sqrt{2}$$

$$\rightarrow \text{جواب} = 2$$

$$\begin{aligned}
 & x^2 - 2x + r = 0 \quad x - r \\
 & p = r \cdot r_q = r_q r = \frac{c}{a} = \frac{r}{r} \Rightarrow r^2 = \frac{r}{r} \Rightarrow r = \pm \frac{r}{r} \\
 & s = -\frac{b}{a} = x + r_q = r_q \rightarrow \frac{c}{r} \rightarrow r \cdot \frac{r}{r} = \frac{r}{r} + \frac{1}{r} \Rightarrow a = r \\
 & a = -1 \quad (1 - (-1)) = 14
 \end{aligned}$$

$\Delta = 0 \rightarrow b^2 - 4ac = 0 \rightarrow (r + 2a)^2 = 0 \Rightarrow r + 2a = 0 \Rightarrow a = -\frac{r}{2}$
 $\Delta > 0 \rightarrow (r + 2a)^2 > 0$
 $a \in \mathbb{R} - \left\{ -\frac{r}{2} \right\} \quad s > 0 \rightarrow -\frac{b}{a} > 0 \rightarrow \frac{r + 2a}{a} > 0$

x	$-\frac{r}{2}$	0
y	$-\frac{r}{4} + \frac{r}{4}$	0

$(-\frac{r}{2} > 0) \Rightarrow x \rightarrow a > 0$
 (I) $\rightarrow$ مثبت و منف $\rightarrow$ در تقاطع $\rightarrow$ در تقاطع $\rightarrow$ در تقاطع

$s > 0 \rightarrow -\frac{r+2a}{a} > 0 \rightarrow \frac{r+2a}{a} < 0 \rightarrow \frac{-r}{+1-1+} \quad -\frac{r}{r} < 0 \quad \text{III}$
 $(I) \cap (III) = \emptyset \rightarrow$ هیچ مقدار

$$\begin{aligned}
 & y = -x^2 + ax - r \quad xs = -\frac{b}{ra} = -\frac{a}{r} = -1 \Rightarrow a = r \\
 & y = -x^2 - rx + b \quad y = x^2 + 2x - r \rightarrow x^2 + 2x - r = 1 \\
 & -x^2 - 2x + b = 1 \quad x^2 + 2x - r = 0 \quad x = -1 \rightarrow \text{مورد خاص} \\
 & -x^2 - 2x + b - 1 = 0 \quad (x+1)(x-1) = 0 \\
 & x^2 + 2x + 1 - b = 0 \quad \boxed{ab = 1 \rightarrow r \times r} \\
 & x = -1 - 1 \text{ مورد خاص}
 \end{aligned}$$

$$\begin{aligned}
 & x = \frac{-r \pm \sqrt{r^2 - 4(-1)(b)}}{2} = \frac{-r \pm \sqrt{r^2 + 4b}}{2} \rightarrow \sqrt{b} \rightarrow \sqrt{b} = r \Rightarrow b = r^2 \\
 & 0 \times x^2 - ax + b = 0 \quad a + \frac{1}{r} - b + \frac{1}{r} = a + \frac{1}{r} + b + \frac{1}{r} = a + b + 1 = \frac{a}{r} \quad p = \frac{c}{a} = \frac{b}{r} \\
 & 0 \times ax^2 + ax - y = 0 \quad d - b \leq a + b = -\frac{b}{a} = -\frac{a}{ra} \quad (d + \frac{1}{r})(p + \frac{1}{r}) = a + \frac{1}{r} + b + \frac{1}{r} \\
 & \quad \quad \quad p = \frac{c}{a} = \frac{y}{ra} = -r \quad = p + \frac{1}{r} + s + \frac{1}{r} = -r + \frac{1}{r} + \frac{1}{r} = -r \\
 & \frac{d}{r} - \frac{-a}{ra} = 1 \quad \frac{d^2 + a}{ra} = 1 \quad ra = d^2 + a \\
 & 2x^2 + x - y = 0 \rightarrow \textcircled{2} \quad d^2 + a - ra = 0 \quad d^2 - a = 0 \quad d(d-1) = 0 \Rightarrow b = -4 \\
 & \left[\frac{ab}{r} \right] = \left[\frac{-4 \times 1}{r} \right] = \left[-\frac{4}{r} \right] = -r
 \end{aligned}$$

$$\begin{aligned}
 & x^2 + 4x + m = 0 \quad x^2 + 4x + m = x^2 + 2x - 2m \\
 & x^2 + 2x - 2m = 0 \quad 4x + 4m = 0 \quad 2 - (-1) = \boxed{r} \\
 & m^2 - 2m = 0 \quad \Rightarrow r(x+m) = 0 \\
 & m^2 - 2m = 0 \quad x + m = 0 \\
 & m(m - 2) = 0 \quad x = -m \\
 & m = 2 \quad \text{افزودن و حذف کردن}
 \end{aligned}$$